70 SQUARE PUZZLES

Each 90 Square Puzzle consists of a square grid (either 3x3
or 4x4) with numbers appearing in each square.

Add one additional digit fo some of the cells so that the

sum of the numbers in each row and each column
equals 90.
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PUZZLE - 31 %0 PUZZLE - 32

4 1|12 33|13
2212 33|22
4 4 5 3 112(3|3
11419 31|12
51213 4 8 2 8
11914 11133
11422 11124
2131 11571
23|82 4 1212
51211 13|32
115/4|3 11113
2 241 2137
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PUZZLE - 37 %0 PUZZLE - 38

11222 3749
47 2|1 23|32
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11422 312/2|3
4 121 5(3 /3|1
1152 21,73
242 2 51|51
7/3/1|3 2 242
31|22 2342
11213 33|31
2 1/3]|1 13|52
2 31|22 2 1/2)|2
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PUZIZLE - 43 %0 PUZZLE - 44
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PUZIZLE - 49 %0 PUZZLE - 50

4 121 519121
61265 11212
311121 113,93
543 |4 2 1(3]|2
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4 2|91 2342
11215 33|12
11231 31|32
11249 2152
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PUZILE - 55 %0 PUZZLE - 56
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